Review 2.4-2.5 Name: fo\/}/
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Decide if each statement is true or false. Explain using a postulate, theorem or definition.

1.

Identify the property for each statement below.

A point can be in more than one plane.

s
.

[fUR, it coold be the wniersecrion of 7 olgnes

Through any two points there are infinitely many lines.

FalSe ; Huert 1% exathiy one link oblwten any % points,

—

Only one plane can be drawn through three non-collinear points.

'T!/LM’_ ; -H-\f(;\)a_,}j'\ c({\kl] 3 non Collineor ()0-\\'\'\5 Hhere 1S A p\c,l(\JZ.

A line contains at least one point.
T(Uf, 3 wn focck 1'\\» corntaing ot leesSt 2 (.\C\T\Y"S .
If C and D lie in a plane, then the line containing them does not lie in the plane.
False , \F 2 efs it n a p\c.vu, L Hawn the line con '&-@\F\:"\C)

o lits in dthat olane |

6. If RS=TW,then TW = RS. QL% nmnerne Po 0 6("(,&/8

7. 3c(a + b), then 3ac + 3bc. DisrDURWw P\“’C: OC‘( ‘\.L/j

8. If 5y = —20,theny = —4. Division O ()'C’H"J

9. If 2x + y = 70 and y = 3x, then 2x + 3x = 70. o bl e Pftap'(’/itﬁ
10.If x +5 =16, thenx = 11. 2. s "T\rG,C'H oNn PW/‘ P‘,,{%
11.If mz1 = me2,ms2 = me3 then me1l = ms3. TroNnsyRve bepa-hﬁ

12. If 2x — 8 = 12, then 2x = 20. f‘;‘}.(id Hon p.@pd(*;%

13.1f 2 = 15, then 3x = 75. Mulhp lication praﬂpcﬂj_
14.

XY = XY Re Clexwe Pro oer {{7»(




2x+8

15.Given: x — 2 =

5
Prove: x = 6
Statement Reason
3= ) 2% 4R \
X e =" Given

5(x-2) = 3 x+%

Muu\ LCahon R@p

S~ = X R

Dishnbutwe P(C{) ;

a¥X-Ib=8 suvetrachon f)(cp.
AX =% Add tfien Hap.
X = (o Divisien Prop.
16. Given: AC = AB + AB " : . .
Prove: AB = BC A B c
Statement Reason
IAC AB-i—AB 1. Given
2.AB+BC =AC | 2. Segment Add. Post.
3.AB + BC =(AB + AB! 3. sumevit.BEs. B o
4.AB = AB 4 Reflexive Prop -
5.4AB = BC 5. - Syvbotroach 10N Q‘(QD .
17. Given: msEHI = m£ZRHC
Prove: ms£1 = m«3
Statement Reason

2. mLEHI = le + L
msRHC = mLZ + m43

AN (;e'\w Addition

Poytolecte

3.msl+ms2 =ms2 +ms3

Sostiution Prep.

4. mere = mzd

Ref lexive ProQ-

5.ms1 = me3

Svbtacton P,




